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716
7 2l & | 4424784| 4,387,534 37,250
101
o1 H 1158430 1,061,779 96,651
972,652 896,414 76,238| 101-01 (2=)

[ehA]
6= 3,932,300& X 4% X 128 = 188,751
= 3,636,600& X 5& X 128 = 218,196
82 3,025,500& X 2& X 128 = 72,612
& At 3,295,500& X 1€ X 128 = 39,546
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(700) At HIE (710) 2B E NIt (716) X el &bl Chel M e)
i 0 &k o g J =
A2+ (HY R 10,0032 X 3% X 7AI2+ X 365Y 76,673
opRI224g 26,6728 X 3% X 365Y 29,206
22244 80,4099 X 3% X 119 28,707
O ddg
DIs2¢]
Hh < Xt 40,0002 X 109 X 12&€ = 4,800
ERel == 20,0008 X 12% X 12¢ 2,880
=)POE 60,0009 X 3% X 12& 2,160
[XHABHH| 2= 2]
ESEPY 298,8002 X 2% X 43 2,391
[H24g103]
25t 0] &t 130,0008 X 7% X 12¥ 10,920
15 014k ~ 2044 0|2t 90,0008 X 3% X 12& 3,240
108 014 ~ 154 0|t 60,0008 X 22 X 12& 1,440
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A 50,000& X 129 X 123 7,200
[(HRESR=>

52 U= 3,743,400& X 4.1/100 X 1& X 12& 1,842

6= U< 3,636,600& X 4.1/100 X 1¥ X 123 1,790

HA AL CH 3,295,500 X 4.1/100 X 1€ X 123 1,622
DIsdEaY]

Jl=82sY 20,000& X 14 X 1238 = 240

=389 Itz 30,000& X 14 X 1238 = 360
[(Hel=Y]

ot==X 2l 180,000& X 12% X 12& 25,920
O HAHZ A 130,000& X 122 X 128 18,720
O BEFJtH 519,105,000& X 1/12 X 60% X 23 51,911
O HItE 4] 519,105,000& X 1/12 X 86/100 X 1/30 X 17 21,082
O XM<IH&HI 519,105,000& X 5% 25,956
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Sl ksl 92,756,000& X 5% = 4,638
37,645 32,558 5087 101-04 (DIZH22NSE+)
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- FASEEY o2 60,2403 X 19 X 20 X 12& = 14,458
- MEIS& & gt oIF 60,2403 X 14 X 10 X 128 = 7,229
- JIAHANEZ Ea 012 60,2403 X 64 X 102 X 43 = 14,458
- 24X =H| 500,000& X 3™ = 1,500
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A2 HA 32,220 31,560 660
20,700 20,040 60| 106-02 (RS ExH|)
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= 140,000& X 59 X 128 = 8,400
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100,000& X 63
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- 01|/\|»OH X‘—-I‘i'—(':— t||j§3|— Al = =
- o = 01|/\|-OH L=sa il = jl o=
2T Aal ol 30,000& X 20& X 23 = 1,200
AL 22 E2 20,000& X 108 X 102 = 2,000
SAEXN Y 15,000& X 10&FA X 128 = 1,800
JNH . =& . HIANE EAEES 20,0003 X 1085 X 43 = 800

2782 =&l

HXSADI(HE ) =2l 1,000,000& X 1CH = 1,000
PC =2l 100,000& X 12CH X 20/100 = 240
2D =2 100,000& X 4CH X 50/100 = 200
SAI B 200,000& X 528 X 14 = 1,000
DElE(SH) &4 200,000& X 58] X 30 = 3,000
el () Ed 200,000& X 538 X 14 = 1,000
ZAEEI] ==L 100,000& X 1CH = 100
ot=Xcl ZAIHON ZFH =cl 500,000& X 50 = 2,500
SHoa g5 =2l 500,000& X 14 = 500

BALS (2SS, HEE =) 90& X 2,010m X 45 = 724




(700) AtH HIE 1 (710) 2 SHHIE NIt (716) X el &bl (2 &)
i oeron | L8 S| BB 4 &8 9 =
ool = Y HA 100,0002 X 15CH X 18] = 1,500
Woerd| e 25,0008 X 8CH X 128 = 2,400
28012 2 L S 500,0009! X 43 = 2,000
SIEHRIE T PY(MANAT 9 3F) 2,000,0008 X 4% = 8,000
83,756 94086|  ~10330[201-02 (S==&8l)

ootk AIEE 2,810& X 270& X 128 = 9,105
#EINERE=S 500,000& X 28] = 1,000
LS sz 85,000& X 128 = 1,020
SER= 30,000& X 128 = 360
32 HAIE = 12,000& X 128 = 144
& 2/l

Ao &3l 100,0002 X 1& = 100

Fg=:. g2l g2 100,0002 X 28 = 200

&dIjerM el X & 2l 100,0002 X 12 = 100
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AR U2 120 X BAIZH X 1.84X 20H X 1,270& = 4,390
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AAII O T P 400,0002 X 62 2,400
JIAME 7L (WL 205) 4,000,000& X 13 4,000
PLCRARA 22 7 (CPULI 355) 2,500,000 X 43 10,000
I 2 AHB HE PL0E 255) 1,500,000 X 23 3,000
StXeld A4S oBE P (105) 2,000,000 X 105 20,000
3ol 227 300,0008 X 4CH X 18 1,200
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NELERLS 148,133,0008 X 1.95% = 2,889
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Z2(H,28) 3,500& X 600EtA = 2,100
OtA3 1,000& X 2000 = 200
2L 8,000& X 25EtA = 200
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(700) AtH HIE (710) 2B E MIgt: (716) X 2| &Y (2 &)
i 0 & 2 g'ji;z; HmZ2 I

a2 22 20,000,0008! X 20§ = 40,000

24 =27 22 20,000,0008 X 20h = 40,000

DDl A 2 B 10,000,0008! X 25 = 20,000

ZolHe AL RIS 5.000,0008! X 24l = 10,000

SteHel® MEX =4 ®A 5.000,0008 X 294 = 10,000

DoaBELY SIS 5,000,0002 X 28l = 10,000
SUQ HIIAIL 1,000,0002 X 53 = 5,000
PLC Z2O SX2 2,000,0002 X 63 = 12,000
PLC RXI24(PLC 1,2,3,4) 2,000,0002 X 125 = 24,000
& HEHOIHH RIS 1,500,000 X 125 = 18,000
L& H=HH |24 5,000,0002 X 33 = 15,000
A= SXLS 1,200,000 X 200| = 24,000
Xele ASsH HH24 15,000,0008! X 138 = 15,000
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O A& #Hl=Xlbl
™S HI1&84 945,000& X 243 = 22,680
™S SEI1J| |RANE (UM, 82, 2H S) 1,300,000& X 123 = 15,600
elatg Its=4dJ1 8184 384,000& X 243 = 9,216
ANSSAIAE HIIEE & RAES 2,100,000& X 128 = 25,200
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Ee2 7.47020 X 1,100kw X 128 = 98,604
NE=Zel= 1202 X 480,000kw X 128 = 691,200
1,800 1,800 0
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2AE HNELE 0 A 60,0002 X 55 = 300
MEI2R L DSHIAAL HEX JEE 5,0002 X 300 = 1,500
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O Jl=3 (a4, zelg)
[t ]




s
0
o
o

AI8H: (751) 2 Btatel di

= 0 & 2 g'ji;z; HmZ2 I
52 6,816,000& X 1.59 X 12& = 122,688
62 4,017,800& X 29 X 12& = 96,428
= 3,609,000& X 49 X 12& = 173,232
82 2,486,700 X 1&€ X 12& = 29,841
92 1,987,000& X 19 X 12& = 23,844
O a0
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6= U< 3,609,0002 X 4.1/100 X 18 X 12&€ = 1,776
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O ML 446,033,000& X 5% = 22,302




Al : (751)

& rateldl

!
40

[l
o

Jo

aro g'i;i; HnZ2 2 I =
10
X2 AsHA 31,260 32,640 1,380
1,800 1,800 0| 106-01 (HHMSLR+HAHI)
O 52 150,000 X 1% 1,800
17,940 17,400 540 106-02 (M= 2 2H])
x2S x|
52 250,0008! X 1.5% 4,500
62 155,000 X 2% 3,720
72 140,000 X 4% 6,720
82 ~ 92 125,000 X 2% 3,000
11,520 13,440 A1920[106-03 (SELR+HZHI)
O S3gRdast|
ZIILEAK 80,0002 X 8% 7,680
GlAH 24 Y QIDN o= 80,0002 X 4% 3,840
201
dute o 191,720 167,100 24,620
81320 35.100 46.220|201-01 (Ar2221H])




(700) At HIE (710) 5 IS NI (751)etarel| (S 82)
- oeron | L8 S| BB 4 &8 9 =
O der&t|
NREE 2 HIZETY 15,0008 X 9% X 128 = 1,620
SASK 7Y
A4 15,0008 X 10%fA X 128 = 1,800
A3 30,000 X 58tA X 128 = 1,800
2o R0 30,0002 X 702 X 18 = 2,100
Ol &N R Q 50,0008 X 702 X 33 = 10,500
Y2 50,0008 X 128 = 600
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( (700)AHABIE g (710) 2 HHE AI8H: (751) 2 Btatel di (
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ni; = PoET= -
= 0 4k 08 e | BIREY 4 B I X
IQWAANSE (BE-4Y, 24) 500,0002! X 141 = 500
O A& EHIKNY
E22 29 X4 1,000,0002 X 14 = 1,000
IR+ 29 KN 1,000,0002 X 68 = 6,000
O BI4ZHEY YU VA IR, SAH, 2DAAL42, ZLEFHL
9= ALY, 108 AME 4,000,002 X 128 = 48,000
202
0 | 37,210 36,540 670
29,970 33,300 ~3330[202-01 (S LH01B1)
O 2UoiHl
22l 545 AREA
2HLH O 20,0002 X 9% X 122 X 128 = 25,920
22/ 04 | 90,0002 X 9% X 52 = 4,050
4,000 0 4,000|202-03 (=202 0iHI)
HE 2e| St4T AlES 2,000,0002 X 2 X 18] = 4,000
3,240 3,240 0| 202-05 (R2R=IIZ0IHI)




D (700) At EIS st (710)9 2 H 2 ME: (751)2 8k ete) bl (

m
B
P
o

o = o UG . o _
= ol e gaon | BIESE T
O HEDSIB DS oyl
HEOI2WE EA WY 90,000& X 38 X 6¥ X 23l = 3,240
203
EEES T 8,340 8.380 £40
3,300 3,300 o|208-01 ClZE YR RzT|)
O JpedgexaY 3.300,0002 X 14l = 3,300
840 880 Aa0|203-02 (HROLA2EAY))
O ZIAE 2 =E1H| 40,0003 X 21& = 840
4200 4200 o|203-04 (22 YR =T
O 2hsdYe =AY 350.0002 X 128 = 4200
206
T = bl 600 600 0
600 600 0 206-01 (LetrH=24])
O AH=:D| 84 & JIEetizE 2 100,000& X 2= X 33 = 600
213
mE=x=a=sk:ll 2,760 2,760 0
O mEsy
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AT DA 2,000 2,000 0
2,000 2,000 0|214-05 (=& XH|)
O Xlotx= HZI| 2t
Xat4H=0 DA 50,0002 X 1574
XataHZ=T| 22 & 50,0002 X 100JHA X 25%
301
Bt AR 10,000 10,000 0
10,000 10,000 0[301-12 (JIEtEAZ)
O BT AlE Q1201 2 AR 2Y| 1,000,0002 X 10
303
ZAZ 40,887 36,837 4,050
40,887 36,837 4,050[303-02 (SU&0I=)
O A}a02 446,033,0009 X 1/12 X 1.1 =
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(700) At | & D (710) 2 HHI S Mgt (751)Bh2tel | (&2 &)

= SJELS \ ]

Off & OH ol Aot Hlns2t At £ J| =

=1 —
22| & o= 635,861,000& X 8.25% = 52,459
ot=Xcl g 971,287,000& X 8.25% = 80,132
O B2H3

22| & olx=%¢8 635,861,000& X 4.167% = 26,497
ot=Xcl g 971,287,000& X 4.167% = 40,474

22| & ot==8 635,861,000& X 4.2324% = 26,913
ot==xcl & 971,287,000& X 4.2324% = 41,109

el & SiIx=EE 635,861,000& X 0.139% = 884
ot=xcelE 971,287,000& X 0.139% = 1,351
62,488 57,404 5,084 304-02 (2QUAUBEHEHZ)

el € ot+==8 635,861,000& X 3.60% = 22,891
ot=xclg 971,287,000& X 3.60% = 34,967




( (700)AHABIE g (710) 2 HHE AI8H: (751) 2 Btatel di (

chelxA)
o = A} OH dE = =24 A = ~
O WINRLEBEREZ
22| ¥ ol+=L 8 22,891,000& X 8.00% = 1,832
ot=Xcl g 34,967,000& X 8.00% = 2,798
307
gIz2to| & 11,733,000 12,520,290 AT87,290

11733.000| 12520200  A787,290|307-05 (2L2HAA&S)

[BEA]
Odt=ZHEH LUE UMY 2UE XS
094 At 6,823,000,0002 X 14 = 6,823,000
(=2 4,721,000)
(Al 2,102,000)
108 At 3,304,000,0002 X 141 = 3304,000
(=2 2,228,000)
(Al 1,076,000)
[ XHHIAFES ]
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(700) At R H| & & (710)HHHIE NIgh: (751)erate| | (el &)
ﬂl’ g 01|/\|»OH HE T |:||77<D|- Ab = jl =
SRk = o O] &+ o wee SAE.— ==
094 ALY 958,000,000 X 14l = 958,000
104 A 648,000,000 X 14! = 648,000
317
BI|HELIHARS S 84,680 81,080 3,600
O MA+EBIILELINH FANEZ
SIETAIRE /AEAS 242 2,720,000,000& X 3% = 81,600
oty 2E 222 900€ X 100& X 12& = 1,080
Xlots HEI 2 40,0002 X 5000 = 2,000
800
ol 50,000 50,000 0
801
il HI bl 50,000 50,000 0
801
ol 50,000 50,000 0
O 0olidlb] 50,000,000& = 50,000




